Efficiency vs P,

~ 0.7
o

L0.09F [ {{rrrrrirrrmrrrrrsber e
>
20.08 1
o T4t
O
£0.07 R A A S
)
0.0BF [ {-frrirmmmmmrmmmerrm e et
0.05 SRR 5 S R ERRRRR EEREEED £

0.04
0.03
0.02
0.0

e 4 &

ST iewgeony
) ar-p, eom
ECULT uar
ecutchisquareb—
eCurChigduar s e
eCutChisSduar

XX X<
DD DD

DD DD
mmmmﬂa

[Sejeieele

= 0.
2
20.09
2
50.08
O
£0.07
&
0.06
0.05
0.04
0.03
0.02
0.01

.............................................

.....

.............................

.........................

e
1.1

I
. e
e T
o T U U P S
Foa—" .
T —
L

Ratio

TP n

Efficiency vs ¢

£0.05
n
2.045
2
50.04
O
.035
[
0.03

e L N RN RN RN LR




	Contents
	Page 1


